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QUESTION 1

Which Standard is used to Signal the Master / Slave Determination and Coder Capabilities, and Signaling for Opening
Logical Channel Establishment?

A. H.225
B. H.242
C.H.221
D. H.261
E. H.245
F. H.239
G. H.264

Correct Answer: E

QUESTION 2

Which audio coding standards are described by H.320?
A.G.711, G.721, G.722, and G.723

B. G.711, G.722, G.728, and G.723.1

C. G.711, G.722, G.728, and G.726

D. G.711, G.722, G.728, G.723.1, and G.729

Correct Answer: D

QUESTION 3
Which of the following correctly describes echo as it relates to acoustic echo cancellations?

A. The result of sound bouncing off the walls in the room caused by the person speaking in that room being picked up
by the microphones.

B. The sound one hears when the far-end is talking and one tries to talk at the same time.

C. The sound of the far-end being returned to themselves, caused by the room microphones picking up the audio from
the room loudspeakers.

D. The sound of the room reverberation as picked up by the local microphones, amplified and returned to the far-end.

Correct Answer: C
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QUESTION 4

Switched Channel Circuit Networks provide which two-bandwidth speed increments?
A. 64K bits per second

B. 56K bytes per second

C. 56K bits per second

D. 48K bits per second

E. 64K bytes per second

Correct Answer: AC

QUESTION 5

What effect does natural daylight from a window have on video?
A. It causes the picture to have a bluish tint.

B. It causes the iris to close, which makes images appear dark.
C. It causes the iris to open, which makes images appear bright
D. It causes the video to be out of focus.

Correct Answer:. AB

QUESTION 6

A popular way to select a Gateway is by using a

A. Direct In Dial Numbers of ISDN to IP with or without a Gatekeeper.
B. Set of numbers that point to the TEI of the D-Channel.

C.BandC

D.Aand B

E.Cand D

F. Gateway Prefix values registered on a Gatekeeper for IP to ISDN.
G. Gateway SPID values registered on a Gatekeeper for ISDN to IP.

Correct Answer: C
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QUESTION 7
Which of the following accurately describes room gain as it applies to acoustic echo cancellation?
A. Relative sensitivity of the microphones expressed in dB versus the same microphone in a "free field" environment

B. Relative perceived loudness of a person speaking in a given room versus the same person speaking in an anechoic
chamber

C. Ratio of loudness of the participants voices versus the loudspeaker volume arriving at the microphone
D. Measure of amplifier power driving the loudspeakers in a given conference room

Correct Answer: C

QUESTION 8

What allows the detection of audio distortion?
A. Audible sound quality

B. Measured audio signal level

C. Measured background noise level

D. Digital signal processor clock level

Correct Answer:. AB

QUESTION 9

Switched Channel Circuit Network by definition is network that provides
A. Cell Switching.

B. permanent full-network connections from point A to point B.

C. permanent half-duplex network connections from point A to point B.
D. temporary half-duplex connection from point A to point B.

E. Packet switching.

F. temporary full-duplex connection from point A to point B.

Correct Answer: F

QUESTION 10

Internet IP Mask value is "Boolean Anded" with IP Address and is used to designate and identify the of the IP Address
bits.
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A. NETWORK ID and the HOST ID

B. WAN ID and LAN ID

C. All of the other alternatives apply.

D. HOST ID and other HOST ID

E. NETWORK ID and the other NETWORK ID

Correct Answer: A

QUESTION 11

Which, of the following items, best describes gain?

A. Increase or decrease to a signal voltage as a passes through a given component
B. Increase only to a signal voltage as it passes through a given component

C. Decrease only to a signal voltage as it passes through a given system component
D. None of the other alternatives apply.

Correct Answer: A

QUESTION 12

Ethernet can run at which of the following speeds?
A. 10/100/1000 Million Bits per second

B. 10/100/1000 Million Packets per second

C. 10/100/2000 Million Blocks per second

D. 10/100/1000 Million Bytes per second

Correct Answer: A

QUESTION 13

Real Time Transport Protocol and Real Time Transport Control Protocol are used to provide
A. Upper Layer Packet Loss and Packet Errors Statistics and Corrective Action.

B. Lower Layer Transport of Data Collaboration.

C.CandD.

D. All of the other alternatives apply..
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E. Upper Layer Data Packet Sequencing, Timing, and Synchronization for Audio and Video.
F. Lower Layer Transport of Audio and Video.
G. A and B.

Correct Answer: C

QUESTION 14

The H.320 Terminals that are able to call a Gateway and connect to an H.323 Terminal by dialing the
E.164 alias, registered with the Gatekeeper, are called

A. T.120 Terminals.

B. H.323 Terminals.

C. H.221 Terminals.

D. H.321 Terminals.

E. Obsolete H.320 Terminals.

F. TCS-4 Terminals.

Correct Answer: F

QUESTION 15

A telephone call over the Public Switched Telephone Network is what type of quality?
A. Narrow band audio

B. Center band audio

C. Wide band audio

D. CD quality audio

Correct Answer: A
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